070-049( 239) (1/1)

cm
10|20
10(20|30
0 10 20 30 40 50 60
E 1.15 3 =
7 -
1l1]13] 4
1.45 =
1.8 AN 3
\VAVAVAVAY] 2.15 2114 -
IAAYAYAYA /Aravi =
(VAVAVAVAY] 1]14| 7 |31]39 =
AN 2.46 —
(VAVAVAVAY] =
v s =
(VAVAVAVAY] —
IAYAYAYAYAY |3-15 / -
\VAVAVAVAY] 11113 =
AN =
(VAVAVAVAY] 3.45 =
AN =
(VAVAVAVAY]
0000 mANHP :
NN 141117 131)2 =
\VAVAVAVAY] 4.46 -
IARAYAVAWAY -
VAV 5.25 =
NAAAN 5.15 3 =
\YAVAVAVAY] / =
v = 11 ]1s]| 4 =
A\YAVAVAVAY 5.45 —_
AR
VAVAVAVAY] =
IARAYAVAWAY 2 1 5
VAV 150 5 |/ 7 =
AN 146 213] o =
(VAVAVAVAY] 575 3
4.90N AAN =
= =
= 7.15 : ! =
o 0|20 0| 1 =
~ 7.45 =
1.14 =
g.15f 1|1 2 =
/|7 / =
18|12 0| 2 =
8.45 =
1.1
9.15 20114
— ARav \\
- 1]14l6 |30]| 4
0.7 9.45 \\
Qé.oé(? 10.15 11 | 50 =
O-0-0 = s -
T0X 0 1821 4 |24]62.9 — =
O -0 10.39 =
- Q0 - -
95059 E
0:0:0 11.15 1/4 5/0 3
59525 16 20| 9 |29 |51.7 ) E
1.50 11.44 | _— =
12.15) 2 | 1 5 =
7|7 /
14l6]2]3]| §
12.45 —
1.25 =
13.15 9
; \
E 313|330 =
= 13.45 =
F 14400 1.20———— 14.15 17 =
E PP ! / =
E 467 ]3] 17 =
E 1445 =
=15 15.15 18 =
= S / L 3
E [15.4 5167 |3] 19 =
E 15.45 3




